3 (Bem-3/CBCS) ECO HC )

2021
( Held in 2022

ECONOMICS
Puper ; BOO-HC-30)6

{ Intermediate Microeconomios—t )

{ Honours Course )
Full Marks ; 5Q
Tima : 3 hourn
The figures in the mergin indicats full morks
for the quéstions
Answer either p English or in Assamess
1. Answer the following questions : Lx10=10
w5 wserA e R

ﬂ What is cardinal utility?
TS Sricire & 7 o
() What s the marginal rats of substitution
between two perfectly substinite goods?
& gl wm i cwrs wiew aiewer w1 R
9?2

220 ] 39 { Turn Ower |




{3)

4, Wrte short answers of the Rllowing
questions : 2%5=10
o Seeee v T
ju) Whal is meant by slope of a budjset ling?

YRS A] TE T SR e
7 el demand,
3 wifem T v WRTR TS YA R S
@) What are ahort-run and leag-ran coats af
*  production?
i g Tdea Brwrs A A Y
) Establish the relatiomship betwoen n totn
utitity and marginal utitity,
i eryfieg = s Pamion Twd T
Gk ol

S Stute the conceps of optimum, frm.
T PSR NRIGH Y 3 )

3. Antwer aty four ol the lolfowing questions :
a0
v SR S ST S R
M’ Whﬂl 'I‘ﬂmfmq:: good? How iz 1 different
from normy) gopds? Show it withy the belp
ol indiffetence marves
B B walwm amdiee Y o
| *[FFF 1 TS TN FEWS ST |
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Discuss how Slitaky equation explaina
the relationship betwesn hange i prce
of @ geod wud demand for it

afife R (R TR ARG ST niEm
RIS Fep Fip TN, W

the purchase of & jottery Gokel
?Eﬁf; nnn;ﬂumuﬂn of an individual
Let the prize be * 5,000 which he will get
i[heunnnmdruppmdh:!wus he
will szt (he contolation prizé of ¥ 10,
Further suppoese that the nrobability of
his winning is 06, Find axpedted maney
value of lottery tcket

AT 8N e ez gt oA T famm A
v s A ARSI wEE R (o
S G00 T e qn we I W@, (o
L0531 Tpef 351 # ) =R 0SS o T
SaA TEeatrE 3R 06, AT N gnie
qm{m‘aﬁlmu

Define substitute. and complenentary
factors, Draw [soquants ol p:rfu;d
:u'bsurulﬂ and perfecr complements io
pmducﬁnn. Give examples.

B e s St iomn o | o fien
ST o5 <R TR RTINS
S ol

{ Cantintted |

- A

o iy S e T D oy :L:"'_.'-j'—":q_ b |

(&)

‘,1‘!} UIT there Ia Irse entey of pew fiime o ke
l:nmp:uln'c tndusiry, price must uld w

the level of mosbimum jang run avernge
cast. " Explain

“ e e TR AE fekmm oo
S o T R L RS L
frrem Rt= 0 TR W
" Give the vanous concepn of pruduction
coste 1 briel

T T RiSH wrmE e R

4. Angwer the {ollowing quessions ; 10xd=td]
T AR e P
jj "Revenlsi preference theory makes &
major advercenwnt o the theory of
demand.” Discuss 1G

o SRR wadd oy SRS ik
SHTE e wAon 11| SR SN 1

Or,/ ey
Explain how indilference curve ciin e
denved using revealed preference theory.

w7 wfFT WA WIS TS WROTE (7
Chrthiis M i = T

(b) Howr are average codtcurve and marginal
coat gurve devived (rom total cost curve?

e Sl
pol s e oie VR e B
) s 3R 1R
224139 i b [ Turm Ouer )
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Or / Wl

‘What is meant by optimum [agtor
combination in production? Explain with
the help of isoquant and tsocost lines.
248=11
W Sep ofl R [ qw a7 Soem
GRS SPF RIS (A PR TR ) |
Explain the impact of change i rate of
inferest on  the consumers, Use

22A139

diagrams, 10
0 1 s 3
or / WY -
Fill i the blanks in the {ollowing table :
34343+ 1«10
ey i Wil AR )
varchle mpurs | gulpdd || product | produdt
I W fows | milks e | 0 S2vea
e
3 — 18 3o
3 - 0 _
5 130 = n=
© = 5 _
7 - —_ ]ﬂ%
{ Contirued )

L
0% Y
SEth e { 7 '
WP . .
rs Coes: the proditction function sisted o
(‘f—_ the table cxhibit diminmehing retums? If
& g3, at whet number of umns of ihe
n. varible mp-m:dn:hm:ruﬂung ing ‘mergial
'. J,’\:; returme begm?
Ny, o T N B FmoE BT
i w7 W, (R Q0] AR
@8 Y R i e e i B e
. 4L EEy
v
..-"7'|-‘J _ _ ‘ L
ﬂ Critically dincuss the law 0f variahle
! proporion. 10
| wReEE wpm BEG SEpmERSA
= =i 0
Or /' =)
What @mre lsoquantyx? Shuw the
ncreasing, ponsiznl and decreasing
returt 1o scale through ooguants,
1+3+3+3=10
AR AW R OTEOR ST AR
FXTR, WA W FEPWE IO R
HETA (TES
Tl ol W
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